<uuUusuer P3NhRLE BUUUNKRSLENE

Cwybyws 1

Cujwunwih Cwipwybnnipjw Shpwih
dwpqgh Uuh hwdjuph wywquunt 2023
pqwlwuh nbnbkdpkph 27-h N 113-L npn2dwt

(hwqwn npwdny)

Snnh
NN

Glwdnwwnbuwlybbnp

Inndwéh
NN

COnwikOp
(u.5+u.6)

wne

Inud’

qupswywl dwu

$nlnwyhl dwu

2

3

4

5

6

1000

cLAUUGLE ByUUNESLEN
(innn 1100 + winn 1200+winn 1300)

1148 267,1

1148 2671

210 000,0

1100

wyn pynLd 1.
uruGe 64 snkreGP (innn,

1110 + vinn 1120 + winn 1130 + vinn 1150 + winn
1160)

7100

207 350,4

207 350,4

1110

wyn pynud’
1.1 GnypwhG hwpybp whwnpd gniphg
1111 + winn 1112)

(wnn

7131

77 115,0

77 115,0

111

wyn pynLd’

qniypwhwpy hwiw)bpltiph upsgwlywl
nwpwépltipnid gunbynn 26Gpkph L
shGnwpyntlGlbph hwdwnp :

1 000,0

1000,0

1112

3nnh hwpy hwiw)GpGtph Jupswywl
nwpwéplbpnid gunlynn hnnh hwdwp

8 000,0

8 000.0

1113

Jwdw)bph pjnot dnunpwagnynn whwnd gnijph
hwpy

68 115,0

68 115,0

1120

1.2 QnypwjhG hwplykp wy gnuphg

7136

119 138,0

119 138,0

1121

wjn pynid’
anypwhwny thnfuwnpwdhengltiph hwdiwn

119138,0

119 138,0

1130

1.3 UypwhplGtph oguwgnpéiwh Yuwd
gqnponLGEnLpjwb hpwywGwgiwh
pnyjpunynipjwl Yywnbbp

7145

9 497.4

9497,4

1131

wjn pyncd’
Stnwlwh nnuppbip
(nnn 1132 + tnnn 1133 + winn 1134 + wninn
1135 + tinn 1136 + wninn 1137 + innn 1138 + wnnn
1139 + innn 1140 + wninn 1141 + ninn 1142+0nn
1143+wnnn 1144+wnnn 1145+wmnn 1146+wnnn
1147+wnn 1148)

7145

94974

94974

1132

wyn pynud’

uwdwjuph Ywnpswlwl nwpwspnid Unp 2EUptph,
ohunuejnililph W ny hhdlwlwl 2huncejniilph
shlwnwnnipjwl (nbnwnndwl) pnynynipjwl
hwdwp (wnnn 1132.1 + wninn 1333.2)

300.0

300,0

11321

nphg’
w) Ipd0wlwh 26uptph W 2hGnupynibbEph
hwdwn

300,0

300,0

1132.2

p) N3 hhiGwlwG 26Uptnh W 2hGnipyntGhGEph
hwdwn

0.0




1133

Swdwjuph Jupswywl nwpwsdpnid gnjnupnLu
ntutignn 2tlptinh W 2hunwentuubph
YEpwywnnigdwu, yEpwywugldwu, nudtnugdwl,
wnnhwlwlwgJdwl W pwpblwpgdwl
w2huwwnwlpltnh (pwgwnnipjwlp 3wjwunwlh
Jwupwwbwnnupjwl optuunpnupjwlp
uwhJdwUudwd 2huwnwpnipjwl poynyncpinil
siywhwugynn nbwpbph) pnynynipjwl hwdwn

1000.,0

1000,0

1134

Swdwjuph Jupswywl tnwpwépnid 26Lpknh,
2huniejnililbph W pwnwpwzhlwlywl wy|
opjEYunlbnh pwunUwl pnyunyniejwl hwdwn

50,0

50,0

1135

Swdwjuph Jwpswywl tnwnwspned henney
Jwnbihph, ubnuywd puwlywl Yuwd hennLywgywd
Lwypwihu quqbph wéwnph pnynynLeuu
hwdwp® opwgnLgwihu tnwnyw hwdwn

1790,0

1790,0

1136

Swdwjuph Jupswywl nwpwspned gunlynn
fuwunupuEpnLd L Ypwwyubpnud hennuy
duwnbtihph, ubnuywd puwywl Ywd hennLywgywd
Lwypwjhu quqgbph, Jwupwdwiu wnlinph
yGwnGpnud Yud wywnnutpblwlutph wnkhubhywywl
uywuwnpydwu W unpnguwl swnwjnLpjwl
opjtyunubpnud inbpubhywywlu hennLyubph
Jwéwnph pnyjunyniejwl hwdwp

0,0

0,0

1137

Swdwjuph Jwpswywl nwpwdpnid pwulwnpdtp
Ubuinwnutphg wwwnpwuwnydwsd hpbph npnawlyh
Jwjpnud Jwlpwdwhu wnp nL uéwnp
hpwywlwgubine pnynynipjwl hwdwn

0.0

1138

Swdwjuph Jupswywl nwnpwdpnid ngbihg W
wiynhniwjhl fudhgpltbinh W (Yud) shuwtuninh
wnuwnpwuph Jwéwnph pnynyncewl hwdwnp

42240

42240

1139

Pwgopjw wnliinph Yuquwybpuuwl
poyndnLpwlU hwdwnp

0.0

1140

Swdwylph Jupswlywl nwpwépnid webinph,
hwlpwyh uGGnh, quupdwbph, whnidny
fuwntph b hwlwhuwnbiph Yuqiwybpuydws
opjlwnGtpp, pwnbhpltpp (uwnlbwGbpp),
fuwnwuwnbbpp dwip 24.00-hg hbwnn wpfuwnbne
pnjjnynipjwl hwdwp

0,0

0,0

1141

Swdwjuph Jupswywl tiwpwspnid, hwdwjupwihu
YwunUutphu hwlwwwwnwuhuwl, hwupwjhu
uliinh YwquwytpwJwl W hpwguwl
EeAyunynLejwl hwdwp

276,0

276,0

1142

Jwiwpwnwpwihb YwinGGEphh
hwiwwwwnwuhuwb Gplwl pwnwph L
pwnwpw)h0 hwiw)bpGtph nwpwépnid pbnwbh
YtlnwGhGEp wwhbnt pnjpndnegjwG hwiwp

0.0

1143

Fwdwybph Junswlwl nwpwépnid wpunwphl
gnwqn wbnwnpbnt pnyypnynipjwl hwdwnp

18574

18574




1144

wiwjuph funphpnwithzp (ghlwl2wl, wlywiuncd
L wyils), npwtu onptupny gnuwilgywd wupwupwjhu
Uowl, wwpwlipbnh wpunwnnnupjw,
w2huwwnwlipbnh Yuwnwpdwy,
swnwjnLpjnLulENh Jwwnniguwu
qnndpupwgubnnLY oguwgnndtinL pnLnYnLRjwl
hwdwnp

0.0

1145

Jwdwijuph Jupswlwl nwpwdpnid dwpnwinwp-
nwpunt (pwgwnnipjwdp tpenLnw)hu
wnwpuhlbnph® Uhypnwyinnpniulibnh) dwnwjntejnil
hnwlwlwgubint pnynynLpjwl hwdwn

0.0

1146

Jwdwjuph Junswywl nwnuwbpnud
pwnwpwghwywl hngthwlguinh (hpwdtawnh)
Shuwjwwnwpniejwu dwnuwynLeynLulbph
hpwlwlwguwl W (Yuwd) Jwunnigdwl
pnyununLpjwl hwJwn®

0.0

1147

wdwjuph Ywnswlwl nwpwdpnid dwuliwynp
gbptquUwlwwnwl Yuwquwytpuwu W
swhwgnpdUwl pnypnynipjwl hwdwn

0.0

1148

Jwdwijuph Yywnswywl nwnwdpnud
wnbhilhywywl W hwinniy Lpwlwynigjuwl
hpwiwnnieintl hpwlywliwgutint pnyunyniejwl
hwdwp

0,0

1149

Ujp nbinwlywl winippbip

0.0

1150

1.4 Uypwplbph dwnwlwpwpmohg b
dwnwnipnitGGEnh dwwinignidhg wjl
wwpuwnhp yswplbp

7146

1 600,0

1 600,0

1151

1152

wjn pynud’
Jwiw)bph pjnipt YGwnynn whnwlwl wninpptp
(nnn 1152 + wnn 1153 )

1600,0

1 600.,0

wyn pynud’

w) Pwnwpwghwlwl Yugnipjwl wywnbp
qnwhgbint, npwig dwuhl pwnwpwghGtphG
YynbGwyh JyuwjwlywGhtp, punupwghwywd
Ywgnipjwl wlnbpnid yunwnpyws
qpunnidGbpnud thnthnfunepyniGatp, (nwgnidbtn,
nuqnnLibtp Juwnwpbint b Yepwlwiqbiwl
Juwwlgnipjwip YywjwlwGibnp nwint huwdwn

900,0

900,0

1153

p) Lnunwpwlwh gpwutljwyGEph Ynndhg
Gnunwpwlwh swnwjnipntbltp Yuwnwnpbint,
Gnunwpwlwh Ywpgny Jwybpwglwo
thwuwnwpnpbnh YpyGophGwybbp nwint, G2ywé
dwpihGGEph Ynnodhg gnpéwppltinh Gwhuiwgokp b
nhonuiGep Yuquoknt, thwuwnwenptiph
wwwnskGGEp hwibne L npwbghg punywopltp
tnuwjnt hwdwp '

700.0

700,0

1160

1.5 Uy hwpluwjhG BwinunGBp (innn
1161 + winn 1165)

7161

0,0

0,0

1161

wyn pyncd’

OnkGpny whnwlwl pynuek wipwagnynn
hwpytphg L wj| wwpwwnhp ydwnpltiphg
gwuhwbnuiGbp hwdw)Gplbph pynigkltin
(ininn 1162 + winn 1163 + winn 1164)

0,0

0,0

1162

nphg’

w) Glhwdnwhwply

0.0




1163

p) Cwhnipwhwply

0.0

1164

q) OptGpny wbwnwlwb pjniethl wdpwanpynn
wj| hwpltphg b wwpuwnhp YSwplbphg
Ywwwnynn dwuhwlnudbGepp” Jnipwpwbsincp
nwnyuw wewnwlwb pjnigkh dwuhb optiGpny
uwhdwynn swihbpny

0,0

1165

3Innh hwplh L gnypwhwpyh gény hwiw)bph
pjniob YSwpnudlbph plwgqulwnenid
pwgwhwjnywé hwplwihG opbGunpnipjwl
fuwhunnudGeph hwdwp hwplwwnlGbphg
qubaynn ninydtip L iinuqubpltip, npnp s&0
hw2qwpyynid wyn hwpytiph gnudwpbtph
GUwwndwdip

0.0

1200

2. MUTSALULUL ruuucLNrILEN
(ninn 1210 + winn 1220 + winn 1230 + wninn 1240 +
winn 1250 + winn 1260)

7300

867 095,0

867 095,0

0,0

1210

w)n pynud’

2.1 LOpwghy wpunwphl ww2unnbwlwb
npwiwlnphObp’ unwogduwé wyg
whkwnipnlGlbphg

7311

0,0

0,0

1211

wjn pynid’

Jwdwylph pjnigb dnunpwgpynn wpunwphb
wwunnlwlwl npwdiwinphlbp” unwgywd wy|
whwnnpynLGibph nbnwywb hptwlywrwywpiwl
dwndhb0bnhg pGpwghy dwfuutiph
$hlwbuwynpiwl Gwwwnwlyny

0,0

1220

2.2 Ywyhwnw| wpunwphl ywaunbwlwb
npwdw2inphObp’ unwgywd wy
whbwnipnlGbbphg

7312

0,0

0,0

1221

wyn pUned’

Jwdw)lph pynieb dnunpwgpynn wpwnwehl
wwunnlwlwb npwdwGnphGbp” unwgywé wyl
whwnnipntbOtph nbnwlwb hGplGwlwrwywpiwb
GwpihbGEphg ywwhuw dwhuubph
$hlwluwynpiwb Guywwnwyny

0.0

1230

2.3 PGpwghy wpnwphl wwnnGwlwh
npwiwbnphibp” unwgyweé dhpwqqu)hb
YuwqiwybpwnipynGGbphg

7321

0,0

0,0

1231

wyn pynid’

Rwdw)lph pjnLeb dninpwgnpynn wpwnwph
wwunnlwlwl npwdwlnphGbp” unwglwo
dhowqquihlb YwqdwybpwnipjntGltiphg phpwghy
Swfuutiph $hlwluwynpdwld Guywwnwlyny

0.0

1240

2.4 Ywyhwnw wpmwpht ww2nnbwlwb
npwiwinphbbp’ unwgywd dhpwaqqujhb
YwqiwlbpwynipynGbbphg

7322

0,0

0,0

1241

wjn pynid’ '
Jwdwybph pynipt dnunpwgpynn wpwnwphl
wwunnlwlwh npuwdwlnphlbp” unwgywo
dhowaqqujhl YwadwytipwnupntGibphg
Yuwwhwwy éwhuubph $hlwbuwynpdwb
Gwwwnwlny

0.0

1250

2.5 LGpwghl OEpphG ww2uinbwljwh
npwidw2inphGbp” unwgywéd Yurnwywpdwh
w)| Ywlwpnwybenphg

(wnn 1251 + winnn 1254 + innn 1257 + nninn 1258)

7331

867 095,0

867 095,0




1251

nphg’

w) Mnwywi pyntebhg $hiwbuwlywl
hwiwhwppbgiwb ulygpnilpny npwdwnpynn
nnunwghwlbp

867 095,0

867 095.0

1254

p) Mbnwlwh pyniptihg inpudwnnynn wji
anunwghw0tp (nnn 1255 + winn 1256)

0,0

0,0

1255

wjn pynud’

pw) 3wdw)lph pjniebh BYwdnunbtpp
Gywaqbiglnn’ 33 opkbpGEph Yhpwpldwd
wpnyniipnid hwdw)Gph pynigkh Gywdnunlbph
ynpneunGbiph whwnnipjwh Ynndhg
thnfuhwinnigynn gnLiwplGp

0,0

1256

pp) wy| pnunwghwlbp

0,0

1257

q) Mbnwlwh pynipkhg npwdwnpynn
GuwinwlwihG hwnlywgnudGep (unipytOghwatn)

0.0

1258

n) 33 wy hwiwGpltph pynigtiiiphg pGpwghy
dwhuutiph $hlwbuwdnpiwl Gwywwnwyny
utnwgynn wuwpunbwlwl npudwzbnphltp

0.0

1260

2.6 Ywwhwwy GEpph0 ww2nnbwlw
npwidw2inphGbp’ unwgywd Junwjwnpiwb
wjp Jwhwpnwlbbkphg (wnn 1261 + wninn 1262)

7332

0,0

0,0

1261

wyn pynid’

w) MEnwywh pyniebhg Yuwhwwy 6wfuubph
PhGwbGuwynpiwl Gywunwyw)hb hwinlwgnidltn
(untpybGghwlbin) .

0,0

1262

p) 33 wy hwiw)Gplbphg Ywwhwnwy Swhuutph
$hGwluwynpiwl Gyuwinwyny unwgynn
wuwipnnGwlwl npwdwGnphlbp

0.0

1300

3. U3L twuunrsuer (innn
1310 + winn 1320 + winn 1330 + winn 1340 + winn
1350 + winn 1360 + winn 1370 + wninn 1380 + winn
1390)

7400

73 821,7

73 821,7

210 000,0

1310

wyn pyned’
3.1 Snynulbp

7411

0,0

0,0

1311

wyn pynud’

OptGpny Gwhiwwntuwé nbwptpnud pwlybpnud
hwdw)Gph pynupbh dwiwlwywynp wquwwn
dhenglbph nknwpwpfunidhg L ntiwnghwnltinhg
unwgywd nnynuwdswnpbbip

0,0

1320

3.2 Cwhwpwdhbbbp

7412

0,0

0,0

1321

wyn pynid’

PwdGbwnhpwlwh paytpnupyntGObpnd hwdw)bph
dwuGwygnipjwl nhiwg hwiw)lph pjnLet
Yuwwnwpynn dwuhwbnuiGbp (QwhwpwdhGlbn)

0,0

1330

3.3 Qnuph yuwpdwlwinipjnibhg humiimml]hn
(nnn 1331 + winn 1332 + winn 1333 + wnnn 1334)

7415

29 639,7

29 639,7

1331

wyn pynud’
Jwiw)lph utithwlwlnigyniG hwdwpynn hnnbiph

Jupdwlywinipjwl Jupdwyswplbp

20 4167

20 416.7

1332

Jwiw)Gph Jwpswlwh nwpwépntd qunbynn
whnwywh ubthwywlnpyntl hwiwpynn hnntiph
Jupdwlwinipjwl Jupdwyswnltp

22230

22230




1333

Jwiw)lph Jwpswlwl nwpwépntd gunlynn
whwnnipjwl L hwiw)Geh ubithwlywbnipjwlp
wwnywbnn hnnwdwubph uenigwwwndwl
hpwuniGph nhiwg quGdynn JwpdwySwnltp

0,0

0.0

1334

Uy anuyph updwlwinipynibhg dnunptin

7.000,0

7 000,0

1340

3.4 3wiiw)Gph pjnLpbkh BYwinunbbn
wwpwbptbph dwwnwywpwpnudhg b
SwnwynpnGOEph dwwnnignuldhg
(nnn 1341 + winn 1342 + wnnn 1343)

7421

2199,0

2199,0

wyn pynd’

JwiwyGph ubithwlywbnipjntl hwinhuwgnn, wjn
puUntd” inhpwantpl, hwdw)GphG npwtu
ubthwlwanipntl wlgwé wwpwhplbnh
(pwgwnnipjwip hhiGwlwh heng, ng Gjnpwlwl
Ywd pwpépwnpdtip wywnhy hwlnhuwgnn, hbswtu
Gl hwiwyGph wwhniunlGepnud wwhynn
wwynwipwinipwlwl wpdtipltinh) ywswnphg
dniwnpbn

0.0

Mewnipjwl Ynndhg nbnwlywb
hGpGwlwnrwywpdiwl dwpdhGOtphG
wuwwnyhpwyyws (hwanpnipjniltiph
hpwwlwgdiwh dwhuubph $hiwbuwynpdwl
hwdwp whnwywh pynigtihg unwgynn dhenglbp

1999,0

1999,0

1343

OptiGpny uwhiwGwé nbwptipnid
hwdw)GpwyhG hhdGwnpybbph Ynndhg wnwlg
nbnwlwh ninipph quGaddwh dwnnigynn
SwowynipntGlenh Ywd uwwnwnpynn
qnpénnnipyntGGEnh nhdwg unwgynn
(quGaynn) wy yGwplbp

200,0

200,0

1350

3.5 dwpjwlwh qubandbsp (nn
1351 + nnn 1352)

7422

41 983,0

41 983,0

1351

wjn pynud’
Stnwlywl JSwnbbp

41 983,0

41 983,0

w)n pynid’

1351.w)

Jwuwjlph tnwnpwdpnid 26Lph Ywd 2huntejwu
wpunwphl nkupp thnthnfunn yenwywnnigdwl
whuwnwlplbin Ywinwpbine hbwn Yuwdws
unbhilhywnlnbuwywl wwjdwltn uibine W
hwutnwwnbnt hwdwn

0.0

1351.p)

Swpuinuwpwwbnwhbwpwpuwlwl bwhiwgbduhu
thwuwnwpenetnny Uwhuwwnbudwd 2hu.
pnynynLentl wwhwlgnn, pninp 2hu.
wohuwinwlplbnl hpwwliwgltinig hunn
obuptinh W 2hnieincilinh (wyn pYnu” npuiig
Utnwiwnnignudp, Yepwiwlgunedp,
nidtnugnidp, wpnhwywlwgnudp, punjujundu nu
pwntywpgnudp) Ywnnigdwl wywpunp
wywnunwlwl wiwnny thwunwgpuwu
dllwytpwdwl hwdwp

0.0

1351.q9)

Swpunwnuwwbnw2hbwpwpuwywl bwhwgdwihu
thwuwnwpenerEnny Uwhiwwntuywd
w2huwnwlplbnl wywpuntinig htun
swhwgnpduwl payunyniejwl dluwytnudwl

hwdJwnp

0.0

0.0




1351.n)

Swdwjuph nbophuntpjwl W ogunwgnpéuwu
Utppn guuynn hnntipp hwunywgutine, htun
ybpgubnt W JuwpéwywinLeywl inpwdwnpGing
ntwptinnLd thwunwpenetnh (thweteh)
Lwhiwwwwnpwundwl hwdwn

0,0

1351.k)

Swdwjuph Ynnuhg Yuauwltpwynn dngnypltnh
L wénLpnutinh Jwuliwygniejwl hwdwn

1000,0

1000,0

1351.9)

Swdwjugh Jupswywl nwpwsdpned
innwywswnlbphl (Uenuhuwdubnphu)
Jwulwlgbint hwdwp

0.0

1351.F)

Unpwhwlnipjwl Jéwpubp wyn pyncd®

9 000,0

9 000,0

w) Puwytih Lwywinwywiht LpwlwynLejwu
sblptpnud W (Ywd) 2huncpgniulibpnud Ynun
yEugwnuwyhbu pwihnuubph hwdwnp

9000,0

9000,0

p) Ng plwyth bywwnwywihu Lpwlwynipjwu
2bUpbpnLY W (Ywd) 2huncpniubibpned, wjn pynud”
hwuwpwywywl W wpunwnpuyw 26uptpnud W
(Yw) 2hunLeyntbuGpnud wnpwhwunipjwl Jédwpp

0.0

) Ny Yeugwnuwyhl wnpeh hwdwn

0.0

1351.p)

Chuwpwpwywu W fun2np Ggpwswihh wnph
hwywpdwl W thnfuwnpdwl, hugwbu bwle
wnpwhwUnipjwl Yswn Jewnpnnubnhl
2hbwnwpwywl W fungnp Ggnuiswithh wnph
hupuntpnyl hwywpdwu W thnfuwnpdwlu
penyunyncpjwl hwdwn

0,0

1351.;2)

YEUnpnuwgywsé gbnnigdwl hwdwn® hwdwjuph
Ynnuhg Yuwd hwdwjuph ywndtinny dwunnigywd
Swnwynieynililtnh nhdwg thnfuhwwnnigdwl
gnuwpp swihny

0,0

1351.0)

Qnuntn-Yynjnnnt hwdwn wju hwdwjupubpned,
npnup Ubpwnrywsd s6U gnunLn-Ynjnunne
dwnwjniejnLlltp Jwunnignn owGpwwnnn
Ywauwybpwnipnlulbph uwwuwpydwl
tnwnwdpubpnud, Jwulwdnpwwbu
onwlwwnwywpwplwu W gpwhbnwgduwl
Jdéwplbn

12 000,0

12 000,0

1351.h)

Nnnguwu gph Jwunwwpwpuwl hwdwp wjl
hwdwjupubpnwd, npnup Ubnpwnywd s6uU
.2poguwnwgnpdnnutinh puytpnieinLultph W
gnoguwgnndnnutph puytpnipyntlltinh
Uhnieynllltnh Jwuhub Iwjwunwuh
Swlpwwbinnuewl optluph hwdwauwyl
uwnbndywd gpogunwgnpdnnutinh
puyGpnieyntbubph uwwuwnyuwu
nwnwbdpubpnd® hwdwjuph Ynnuhg Yuwd
hwdwjuph wwunybpny Jwunnigywd
dwnwyjnLrynLubtph nhdwg thnfuhwunnigdwl
gnidiph swihny

0,0

1351.)

wdwjuph Ynnuhg Ywnwywnynn
pwaqUwplwlwpwl 2tLpbph punhwunp
pwdlwjhu uGthwywunLejwl wywhwwudwlu
wwnuwnhp unpdtph Yuwunwpdwl hwdwp

0.0




1351.hu)

Swdwjupwht Eupwywnipjwl Jwlwwwnuntgh
dwnwyjnieintlhg ogunynnutiph hwdwnp® hwdwjuph
ynnuhg Yud hwdwjuph wwindtpny dwnnigwsd
Swnwjnipyntuutnh nhuwg thnfuhwwnnigdwl

gnudwph swihny

14 688.0

14 688.0

1351.0)

Jwdwjupwjhl Bupwyw)nLEjwl
wnunwnunpngujwl nwunhwpwyntejwu
hwuwnwwnnientuutph (Epwd2nwyuwl,
Lywpswywl W wpytuwnh nunpngubn W wju)
dwnwynLpinLllltnhg ogunynnutph hwdwn®
hwdwjuph Ynnuhg Ywd hwdwjuph wwwnytpny
Jwwnnrgywd dwnwjnipyntlltinh nhuwg
thnfuhwnnigdwl gnudwinh swithny

3935,0

3935,0

1351.4)

Swdwjuph Jwnswywl tnwpwdpned, uwywil
hwJwjuph puwywdwjptphg nnupu gudnn’
wywaguwunt npn2dwidp hwunwhl hwlguwnh Juyn
uwhdwuywd W hwdwjuph Ynnuhg Yuwd hwdwjuph
wwwnysnny npwbu hwlpwjhu hwugquuh Jwp
Ywhwynpywd nwnpwspnud punwubywl Yuwd
gnpdLwywu Jhgngwnndubn wlglywglbint
hwdwn

0.0

1351.h)

Swdwjupw)hu ubthwlwlunipnu hwunhuwgnn
wwudnipjwl W hwynyeh wlpwnd
hnipwpéwlltph W hwdwjupwihlu Bupwyw)niejwl
pwlgwnpwultph Unuwnph hwdwnp -

0,0

1351.4)

Uyunnyuwywuwwnbnnud Yuywubine hwdwn

0,0

1351.n)

Swdwjuph wnhuhyhg thwuwnwpenetph
wwwinstultn npwdwnptine hwdwn

0.0

1352

Swdwjuph Jwpswlwl tnwpwspnid hupLbwywd
LYwnnigywd 2tLptiph, 2huncenlulbnh
ophlwywlwgUwl hwdwp éwpubp

1000,0

1000,0

1353

)| inbnwywl yéwputn

360,0

360,0

1360

3.6 Unuinpbip wnnyydbphg, inniquilipltphg
(tnnn 1361 + winn 1362)

7431

0,0

0,0

1361

wjn pynid’

Jwpswywh hpwywhuwhinnudGeph hwdwp
nbnuwb hplwlwrwywpdwb dwpdhGGtpp
Ynnihg Wwuwupuwlwwnynipjwh shonglbph
Yphpwnniihg GwdnunObp

0,0

0,0

1362

Unwwnpbp hwdwyGph pynebh Ghwwndwdp
unwbdlwd wwydwlbwgpuwjhG
wwpuwynpnipntGlbnh shwmwpdwh nhdwg
qu@dynn wnydtiphg

0.0

0.0

1370

3.7 LOpwghly ng wwzwmnGwlwh
npwiwlnphbGbp  (nnn 1371 + innn 1372)

7441

0,0

0,0




1371

wjn pynid’

bhahywlywl widwig L Yuwqdwybpwnipynibotiph
Gyhpwptpnipynilhg hwiw)Gphh, yepehlhu
LGpwlw pynipbnwhG hhdGwpyGph
nGonhGowb wigwé gnyph (hhdbwlwh Ghong
Ywd ng Gynpwywl wywnhy shwnhuwgnn)
hpwgntihg L npwiwywa dhengltiphg plpwghy
dwhuutiph $hGwluwynpiwb hwiwp hwiw)bph
pyniob unwgywé dnunpbip” npwdwnpywé
wpwwphb wnpjnipltiphg

0,0

1372

dhahlwlwi widwhg L YuqiwltpwnipyntGGenh
Guhpwptipnipynilhg hwiw)Gphh, tpohlhu
LGpwlw pjnietnwyhl hhdGwpyGtph
inGophGiwGh wigwéd gnyph (hhdGwywh dhong
Ywd ng Oynpwwb wywnhy shwlnhuwgnn)
hpwgntihg b npwdwyw Shengltinhg plpwghy
swhuutph PhiwGuwynpiwb hwdwn hwiw)lph
pjniob unwgywé dnunpbip’ npwdwnpywd
GtpphG wnpjnipltiphg

0.0

1380

3.8 Uwwhwnw) nj wwunnbwlwh
npwiw2GnphGEp  (nnn 1381 + winn 1382)

7442

0,0

0,0

1381

wyn pyntd’

Lyhpwunynipjwl, dwnwignipjwl hpwynibpny
$hahywlwl widwlghg L
YwqiwybpwnpyntGGbphg hwdw)bphG, Ytpohthu
LGpwlw pyniebitnwyhG hhdGwnpyGbph
inGophGiwhb whgwé gniyph (hhdGwywh dhong
Yuwd ng Gynpwub wywnhy shwlnhuwgnn)
hpwgntihg L npwdwlwh dhenglbphg Ywwhuwy
swhuutph $h0wGuwynpiwb hwdwn hwiw)lph
pjniob unwgywé dnunptin’ npwdwnpywé
wpuwphl wnpjnipltiphg

0.0

1382

Lyhpwuynipjwl, dwnwlgnipjwl hpwynilpny
$hahywlywl widwhghg L
JuqiwybpwnipniGGephg hwiw)Gphl, YepghGhu
EGpwlw pjniobnwyhG hhdGwpyGbph
nGophGiwbb whgwé gnuyph (hhdGwywb dhong
Ywd ng Gynpwlwl whwnhy shwlnhuwgnn)
hpwgntihg L npwdwlwi shengltiphg Yuwwhwnwg
dwhuubiph ppwywlwgdwl hwiwnp hwiw)Gph
pjnLet unwgywé dnunpbp’ npwdwnpywéd
GtpphG wnpyniplbiphg

0.0

1390

3.9 Uj; jwdnuinGbn (nnn
1391 + wnnn 1392 + tnnn 1393)

7452

0,0

0,0

210 000,0

1391

wyn pynud’
Jwdwylph gnijphl wwwndwewé YGwulbph

thnfuhwwnnigniihg dnunpbip

0.0

0.0

1392

Jwpswlwh pynebh wwhniunwh@ $nlnhg
$nlnuiyhb pyniob Ywwnwpynn hwnwgnuibtiphg
dntwnpbp

210 000,0

210 000.0




1393

OpbGpny L hpwlwlwh wy wynbpny
uwhiwGyws” hwiuyGph pjntgbh dnunpwgniwd
LGpwlw w)| GYwanunGp

0.0




